X B NS TRIADIRE AL X%
[ G55 ]
BlE 2R (1) 1100 m
B (D) :100A
PNERE AR D DR (6im) :95°C
PNERIE A il BRYELEE (0fm) :90°C LA |
NEBI AR D& (m') : 1000K g/hr
NS IR D EJE LB (C p) :4.2k J/(Kg-K)
A UREE (6a) :0°C
FMARESE (hse) : 12 W/(m*K)
(55 18] vyry— A RIER JES=EH
BVRE R (M) :0.044 W/(m-K)
[ R ]
BIROLEZLBIPIR THIE
R T1=3.6x1/[ (Cpxm’) xIn{ (6im—0a)/(0fm—0a) } ] m -K/W
=3.6x100/[ (4.2x1000) xIn{ (95—0)/(90—0) }]
=1.5853 m+K/W
(EELEA(Cp) DEALIT k]/(Kg K)T 1 Wehr=3.6kJ)
FHBAYRIER (hse=12 W/ni - K) D ENH D% .
PRIEM OBHHT (R 1) & H BT (R le) Z IR L7k O a4,
RTI=RI1+Rle
=In(De/Di)/2xaxA) +1/(h sexnxDe)
=In(D'/D 1)/ (2xmx\)
7277L. D'=De+2x\/h se
d=[De—Di)/2
ZZT,.DiRIBROHONE m
In (DD 1) =2xaxAxR 1
=2x1x0.044x1.5853
. DY/Di=1.5500
. D'=1.5500%0.1143
=0.1772m
HRIEM OJEEdIE
d=(De—Di)/2
= ((D'—2xMhse)—D1)/2
=0.0278 m
[ &R ]
BHOEEA 90 CLL EET 57 DIZITRIRESIT 28mm L EETHud L,



